
Q.1 In a code language, 'ECTOPIC' is written as ‘71’ and ‘EDIFY’ is written as ‘49’. How will
'ECONOMY' be written in that language?

Ans 1. 87

2. 90

3. 92

4. 88

Question ID : 26433068935

Status : Answered

Chosen Option : 2

Q.2 Five people Q, R, S, T and U are sitting in a straight row, facing north. S is an
immediate neighbour of both T and R. R is an immediate neighbour of Q. If Q is at the
extreme right end of the row, then who is sitting at the extreme left end?

Ans 1. U

2. R

3. T

4. S

Question ID : 26433056046

Status : Answered

Chosen Option : 1

Q.3 In a certain code language, ‘AGENT’ is coded as ZHGOG and ‘CHAIR’ is coded as
XICJI. How will ‘FAITH’ be coded in that language?

Ans 1. UZRGS

2. HCKVJ

3. GCJVI

4. UBKUS

Question ID : 26433074516

Status : Answered

Chosen Option : 4
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Q.4 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.
CAPABLE : PACELBA :: AUCTION : CUANOIT: : CAREFUL : ?

Ans 1. RACELUF

2. RACLUFE

3. EFULCAR

4. LUFERAC

Question ID : 26433069631

Status : Answered

Chosen Option : 2

Q.5 ‘A + B’ means ‘B is the father of A’
‘A – B’ means ‘B is the mother of A’
‘A # B’ means ‘B is the sister of A’
‘A & B’ means ‘B is the wife of A’
If A # B + C & D – E, then how is E related to A?

Ans 1. Mother’s mother

2. Mother’s sister

3. Wife

4. Mother

Question ID : 26433068533

Status : Answered

Chosen Option : 1

Q.6 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 Distinct
2 Discipline
3 Different
4 Distinguish
5 Disregard

Ans 1. 2,5,4,1,3

2. 3,2,5,1,4

3. 2,3,5,1,4

4. 3,4,1,2,5

Question ID : 26433069265

Status : Answered

Chosen Option : 2

Q.7 Select the option that is related to the third term in the same way as the second term is
related to the first term and the sixth term is related to the fifth term.
8 : 520 :: 9 : ? :: 10 : 1010

Ans 1. 690

2. 756

3. 752

4. 738

Question ID : 26433069086

Status : Answered

Chosen Option : 4
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Q.8 Which of the two numbers (Not digits) should be interchanged in the below equation
to make it mathematically correct?
42 ÷ 3 × 6 + 9 - 7 = 23

Ans 1. 7 and 9

2. 3 and 7

3. 6 and 7

4. 3 and 6

Question ID : 264330114177

Status : Answered

Chosen Option : 4

Q.9 Three statements are given followed by three conclusions numbered I, II and III.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.
Statements:
All tops are bottoms.
All pullovers are bottoms.
All bottoms are pants.
Conclusions:
I. All pullovers are pants.
II. All pants are tops.
III. Some pants are pullovers.

Ans 1. Only conclusions II and III follow

2. All conclusions follow

3. Only conclusions I and II follow

4. Only conclusions I and III follow

Question ID : 26433082303

Status : Answered

Chosen Option : 4

Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 26433082900

Status : Answered

Chosen Option : 3
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Q.11 Which letter-cluster will replace the question mark (?) to complete the given series?
ZDFA, CIMJ, ?, ISAB, LXHK

Ans 1. HNRT

2. EKJN

3. FNTS

4. GLPP

Question ID : 26433068040

Status : Answered

Chosen Option : 3

Q.12

Ans

1. 

2. 

3. 

4. 

Question ID : 26433069335

Status : Answered

Chosen Option : 4

Q.13 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.
PLC : EOT :: DLG : IOH :: HCN : ?

Ans 1. PEM

2. PFL

3. QGM

4. QEL

Question ID : 26433057887

Status : Answered

Chosen Option : 2
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Q.14 Which number will replace the question mark (?) in the following series?
4, 36, 144, ?, 900, 1764

Ans 1. 400

2. 200

3. 500

4. 300

Question ID : 26433067843

Status : Answered

Chosen Option : 1

Q.15

Ans 1. 3

2. 1

3. 5

4. 4

Question ID : 26433085505

Status : Answered

Chosen Option : 1

Q.16 Which of the following numbers will replace the question mark (?) in the given series?
13, 30, 47, ?, 81, 98, 115, 132

Ans 1. 74

2. 52

3. 64

4. 62

Question ID : 26433069043

Status : Answered

Chosen Option : 3

Q.17 Which of the following letter-clusters will replace the question mark (?) and complete
the following letter-cluster series?
EE, GF, JH, OK, VO, ?

Ans 1. GT

2. GS

3. FU

4. FT

Question ID : 26433067279

Status : Answered

Chosen Option : 1
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Q.18 Six students are sitting around a circular table facing the centre. Arun is the immediate
neighbour of Krishna and Boby. Shama is the immediate neighbour of Ajay and
Suman. Ajay is to the immediate left of Boby. Who is to the immediate right of Boby?

Ans 1. Suman

2. Krishna

3. Shama

4. Arun

Question ID : 26433069663

Status : Answered

Chosen Option : 4

Q.19

Ans

1. 

2. 

3. 

4. 

Question ID : 26433070422

Status : Answered

Chosen Option : 2
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Q.20 If ‘A’ means ‘subtraction’, ‘B’ means ‘division’, ‘C’ means ‘multiplication’, and ‘D‘
means ‘addition’, then what will be the value of following expression?
28 A 80 B 16 C 5 D 21

Ans 1. 24

2. 34

3. 14

4. 4

Question ID : 264330117493

Status : Answered

Chosen Option : 1

Q.1 In which among the following states did Priyanka Gandhi Vadra joined "Bharat Jodo
Yatra" for first time in November 2022?

Ans 1. Madhya Pradesh

2. Karnataka

3. Kerala

4. Uttar Pradesh

Question ID : 264330114896

Status : Not Answered

Chosen Option : --

Q.2 In India, _________ was the final approval authority for the five year plans.

Ans 1. International Development Council

2. National Development Council

3. National Agriculture and Development Council

4. National Development Centre

Question ID : 264330115362

Status : Answered

Chosen Option : 2

Q.3 Which of the following monetary instruments of RBI is qualitative in nature?

Ans 1. Moral Suasion

2. Cash Reserve ratio

3. Bank rate

4. Open Market Operations

Question ID : 26433054612

Status : Answered

Chosen Option : 2

Q.4 The Arjuna award started in which year?

Ans 1. 1978

2. 1970

3. 1961

4. 1972

Question ID : 264330116267

Status : Answered

Chosen Option : 3

Section : Part-B-General Knowledge and General awareness
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Q.5 What is the phenomenon of heavy showers with thunder occurring in the West Bengal
region during the hot weather season called?

Ans 1. Loo

2. Kalbaisakhi

3. Retreating monsoon

4. Mango Showers

Question ID : 264330115982

Status : Answered

Chosen Option : 4

Q.6 The Shumang Leela festival is associated with which of the following states?

Ans 1. Jharkhand

2. Bihar

3. Manipur

4. Assam

Question ID : 264330115082

Status : Not Answered

Chosen Option : --

Q.7 ____________ Veda, shortest among the four Vedas, holds a divine status in Hindu
tradition and is a collection of melodies and chants.

Ans 1. Atharva

2. Yajur

3. Rig

4. Sama

Question ID : 264330115442

Status : Answered

Chosen Option : 1

Q.8 Which state won the maximum number of bronze medals in the 36th edition of the
National Games 2022 of India?

Ans 1. Maharashtra

2. Uttar Pradesh

3. Haryana

4. Kerala

Question ID : 264330115911

Status : Answered

Chosen Option : 1

Q.9 Only the ________ can make the proclamation of emergency in India.

Ans 1. Governor

2. Chief Minister

3. Prime Minister

4. President

Question ID : 264330115615

Status : Answered

Chosen Option : 4
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Q.10 What is the name of the first woman inspector general to head the Rapid Action Force
of the Central Reserve Police Force?

Ans 1. Annie Abraham

2. Seema Dhundiya

3. Sanjukta Parashar

4. Merin Joseph

Question ID : 264330114983

Status : Answered

Chosen Option : 1

Q.11 In 1877, Viceroy Lytton organised a Durbar to acknowledge ______ as the Empress of
India.

Ans 1. Queen Angelia

2. Queen Elizabeth

3. Queen Victoria

4. Queen Elizabeth II

Question ID : 264330115689

Status : Answered

Chosen Option : 2

Q.12 What do you call organisms made of more than one cell?

Ans 1. subcellular

2. multicellular

3. unicelullar

4. paracellular

Question ID : 264330115232

Status : Not Answered

Chosen Option : --

Q.13 Which Part of the Constitution of India deals with the powers and functioning of the
Supreme Court of India?

Ans 1. Part V

2. Part VI

3. Part X

4. Part XI

Question ID : 26433074908

Status : Answered

Chosen Option : 1

Q.14 Bhama Kalapam is the classical dance-drama associated with which Indian classical
dance form?

Ans 1. Sattriya

2. Kuchipudi

3. Mohiniyattam

4. Odissi

Question ID : 26433069903

Status : Answered

Chosen Option : 3
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Q.15 Who received a gold medal for choreography for the Ballet Folklorico of Mexico?

Ans 1. Jatin Goswami

2. Alarmel Valli

3. Amala Akkineni

4. Mrinalini Sarabhai

Question ID : 264330115853

Status : Not Answered

Chosen Option : --

Q.16 ______________ is a process in which two close-fitting parts are joined by using a
filler material which is heated above its melting point and distributed in the gap by
capillary action.

Ans 1. Hardening

2. Soldering

3. Welding

4. Brazing

Question ID : 264330115144

Status : Answered

Chosen Option : 3

Q.17 People of what age and above are included while calculating adult literacy rate?

Ans 1. 18 years

2. 15 years

3. 14 years

4. 12 years

Question ID : 264330116062

Status : Answered

Chosen Option : 3

Q.18 Which of the following is "NOT" a major wheat producing state?

Ans 1. Goa

2. Punjab

3. Uttar Pradesh

4. Haryana

Question ID : 264330115527

Status : Answered

Chosen Option : 1

Q.19 The Government’s flagship programme ‘Make in India’ completed how many years on
September 25, 2022?

Ans 1. 5 years

2. 9 years

3. 4 years

4. 8 years

Question ID : 264330116199

Status : Answered

Chosen Option : 4
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Q.20 Items such as cars, clothes, chocolates, which are directly sold to the consumers are :

Ans 1. private goods

2. expensive goods

3. public goods

4. capital goods

Question ID : 264330115280

Status : Answered

Chosen Option : 3

Q.1 In an election between two candidates, the one who gets 75% of the votes is elected
by a majority of 520 votes. What is the total number of votes polled?

Ans 1. 1040

2. 1604

3. 1314

4. 1212

Question ID : 26433080008

Status : Answered

Chosen Option : 1

Q.2 Kiran lent Rs.5,00,000 to Kishore, which gets compounded annually at the rate of 12%
per annum. Kishore lent the amount to Kavya on simple interest at the rate of 15% per
annum. What is the difference in the interest earned by Kiran and Kishore after 3
years?

Ans 1. Rs.22,536

2. Rs.24,536

3. Rs.25,536

4. Rs.26,536

Question ID : 26433075323

Status : Answered

Chosen Option : 1

Q.3 If Akash can do a piece of work in 63 days and Disha can do the same work in 84 days.
They worked together for 12 days and after this Disha left the work and Akash
completed the remaining work, then find the total number of days required to finish
the work.

Ans 1. 40 days

2. 74 days

3. 54 days

4. 66 days

Question ID : 264330116883

Status : Answered

Chosen Option : 3

Section : Part-C-Elementary Mathematics
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Q.4 X bought a dozen pencils for a total of Rs 60 and 20 pens for Rs 200. Find the total
average cost of the stationery X bought.

Ans 1. Rs 8.000

2. Rs 8.125

3. Rs 8.250

4. Rs 8.375

Question ID : 264330116687

Status : Answered

Chosen Option : 2

Q.5 The marks obtained by seven students are 70, 85, 95, 86, 74, 83 and 67. What is the
average marks obtained by them?

Ans 1. 60

2. 80

3. 50

4. 70

Question ID : 26433075136

Status : Answered

Chosen Option : 2

Q.6

Ans 1. 2838 cm2

2. 3828 cm2

3. 3850 cm2

4. 3820 cm2

Question ID : 26433083061

Status : Answered

Chosen Option : 2

Q.7 A shopkeeper gives a discount of 12% on the marked price of an item. If the selling
price of item is Rs.13,200, then what is the marked price of the item?

Ans 1. Rs.15,000

2. Rs.20,000

3. Rs.16,000

4. Rs.12,000

Question ID : 26433061305

Status : Answered

Chosen Option : 1

Q.8 A shopkeeper marks his goods at 20% above the cost price, but to trick his customers,
he offers a 10% discount on the marked price and also uses a faulty weight that
weighs 800 g for 1 kg. Find his overall profit percentage.

Ans 1. 

2. 

3. 

4. 

Question ID : 26433076410

Status : Answered

Chosen Option : 3

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.9

Ans 1. 12

2. 1

3. 0

4. 18

Question ID : 26433081537

Status : Not Answered

Chosen Option : --

Q.10 Calculate the area of a rhombus with diagonals of 7 cm and 6 cm.

Ans 1. 18 cm2

2. 28 cm2

3. 21 cm2

4. 24 cm2

Question ID : 26433076333

Status : Answered

Chosen Option : 3

Q.11 Reeta goes to office from home at a speed of 40 km/h. If she return to home from office
at a speed of 60 km/h, then what is her average speed?

Ans 1. 44 km/h

2. 52 km/h

3. 48 km/h

4. 50 km/h

Question ID : 26433075689

Status : Answered

Chosen Option : 3

Q.12 The marked price of an A.C. is ₹48,000. The shopkeeper allows a discount of 12% and
gains 10%. If no discount is allowed, find his gain percentage.

Ans 1. 20 Percent

2. 26 Percent

3. 24 Percent

4. 25 Percent

Question ID : 26433080171

Status : Answered

Chosen Option : 1

Q.13 The speed of a boat in still water is 50 percent more than it's speed in upstream. If the
boat takes 20 minutes to reach point Q from point P in downstream, then how much
time will it take to reach point P from point Q in upstream?

Ans 1. 40 min

2. 45 min

3. 35 min

4. 30 min

Question ID : 26433066178

Status : Answered

Chosen Option : 1
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Q.14 Amrit is thrice as good a workman as Bhagat. Therefore Amrit is able to finish a piece
of work in 50 days less than Bhagat. The time (in days) in which they can finish it
working together is:

Ans
1. 

2. 

3. 

4. 

Question ID : 26433066321

Status : Answered

Chosen Option : 3

Q.15 If a natural number when divided by 4,5 and 6 leaves a remainder 3 in each case, then
what is the smallest possible three digit natural number?

Ans 1. 129

2. 123

3. 117

4. 113

Question ID : 26433075635

Status : Answered

Chosen Option : 2

Q.16 A vendor sells 40 percent of oranges he had and throws away 10 percent of the
remainder. Next day he sells 50 percent of the remaining and throws away the rest.
What percent of his oranges does the vendor throw?

Ans 1. 45 percent

2. 60 percent

3. 33 percent

4. 27 percent

Question ID : 264330116803

Status : Answered

Chosen Option : 3

Q.17 Raju buys an old mobile for Rs.3,200 and spends Rs.800 on its repairs. If he sells the
mobile for Rs.4,800, his gain per cent is:

Ans 1. 30%

2. 20%

3. 25%

4. 15%

Question ID : 26433074957

Status : Answered

Chosen Option : 2
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Q.18 ₹1,900 is divided among 4 boys, 5 girls and 6 women, such that the shares of a boy, a
girl and a woman are in the ratio 9 : 8 : 4. What is the share of a girl?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433076186

Status : Answered

Chosen Option : 3

Q.19 If l∶m=2∶7,m∶n=3∶4 and n∶k=14∶5, then l∶m∶n∶k is:

Ans 1. 6∶21∶28∶10

2. 6∶21∶7∶10

3. 6∶7∶14∶10

4. 6∶21∶14∶ 10

Question ID : 26433075731

Status : Answered

Chosen Option : 1

Q.20 A Bluetooth speaker is sold for ₹3,500 cash, or ₹1,000 cash
down payment and the balance in 3 equal annual instalments. If
rate of interest is 12.5% per annum and interest is compounding
annually, then find the amount of instalment. (correct to 2
decimal places)

Ans 1. ₹1,019.83

2. ₹1,249.83

3. ₹1,049.83

4. ₹1,149.83

Question ID : 26433074937

Status : Answered

Chosen Option : 3

Q.1 Select the most appropriate ANTONYM of the given word.

Jovial

Ans 1. Gloomy

2. Abrupt

3. Cheerful

4. Nauseating

Question ID : 26433073802

Status : Answered

Chosen Option : 1

Section : Part-D-English
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Q.2 Select the INCORRECTLY spelt word.

Ans 1. Conscious 

2. Credible 

3. Cancelletion

4. Convertible 

Question ID : 26433074061

Status : Answered

Chosen Option : 3

Q.3 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

The accident made his face look horrible.

Ans 1. Surgical

2. Pleasant  

3. Ugly

4. Frightful  

Question ID : 26433072241

Status : Answered

Chosen Option : 2

Q.4 Select the most appropriate option to fill in the blank.

Education, no doubt, _______ bring about the all-round development of a child.

Ans 1. aims for  

2. aim at 

3. get rid at

4. aims to

Question ID : 26433072724

Status : Answered

Chosen Option : 4

Q.5 Select the most appropriate synonym of the given word.

Earned

Ans 1. Offered

2. Gave

3. Gained

4. Accorded

Question ID : 26433088998

Status : Answered

Chosen Option : 3

Q.6 Select the most appropriate meaning of the given idiom.

Beside oneself

Ans 1. To remain silent 

2. Very shocked or distraught

3. Feeling overwhelming fear or worry

4. To be happy 

Question ID : 26433072222

Status : Answered

Chosen Option : 1
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Q.7 Select the appropriate idiom that can replace the underlined phrase in the following
sentence.

He is straightforward and honest and that’s why everyone appreciates him.

Ans 1. bad blood 

2. an open book

3. an apple of one’s eyes

4. a big hit

Question ID : 26433072517

Status : Answered

Chosen Option : 2

Q.8 Select the most appropriate synonym of the word given in brackets to fill in the blank.

Locating directions through the location of stars and constellations is a ________
(handy) way at the sea.

Ans 1. near

2. simple 

3. useful

4. nice

Question ID : 26433061051

Status : Answered

Chosen Option : 3

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

You do not have access to this content currently.

Ans 1. have permit

2. No substitution

3. have excess

4. have permission

Question ID : 26433087893

Status : Answered

Chosen Option : 2

Q.10 Select the most appropriate synonym of the given word.

Brave

Ans 1. Cautious

2. Timid

3. Daring

4. Mild 

Question ID : 26433072531

Status : Answered

Chosen Option : 3
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Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Machines can only accomplish a maximum set of tasks, as machines do not hold any
thought process of their own.

Ans 1. accomplish a valued set of tasks  

2. accomplish a gist set of tasks

3. accomplish a restricted set of tasks 

4. accomplish a difficult set of tasks  

Question ID : 26433096158

Status : Answered

Chosen Option : 4

Q.12 Select the INCORRECTLY spelt word.

Ans 1. Cherish

2. Wisdom

3. Calandar

4. Mice  

Question ID : 26433072760

Status : Answered

Chosen Option : 3

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
He said that / he had want / to read a / novel by Enid Blyton.

Ans 1. he had want

2. to read a

3. novel by Enid Blyton

4. He said that

Question ID : 26433086452

Status : Answered

Chosen Option : 1

Q.14 Select the most appropriate ANTONYM of the underlined word.

Many bosses at workplace consider their subordinate on equal planes.

Ans 1. Inferior

2. Superior  

3. Ordinary  

4. Mediocre  

Question ID : 26433073195

Status : Answered

Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the underlined word.

The boy has benevolence towards animals.

Ans 1. Hardness  

2. Pardon  

3. Cruelty  

4. Kindness  

Question ID : 26433093495

Status : Answered

Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technological innovations have led to marked improvements in (1) ___________, productivity,
quality, inclusion and competitiveness in extension of financial services, especially in the area
of digital lending. However, there have been (2) __________ consequences on account of
greater reliance on third-party lending service providers mis-selling to the unsuspecting
customers, concerns over (3) _________ of data privacy, unethical business conduct and
illegitimate operations. While the current share of digital lending in overall credit pie of the
financial sector is not significant for it to affect financial stability, the growth momentum has (4)
___________ stability implications. The larger issue here is protecting the customers from
widespread unethical practices and (5) ___________ orderly growth.

SubQuestion No : 16

Q.16 Select the most appropriate option to fill in blank number 1.

Ans 1. adequacy

2. inadequacy

3. efficiency

4. inefficiency

Question ID : 26433058872

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technological innovations have led to marked improvements in (1) ___________, productivity,
quality, inclusion and competitiveness in extension of financial services, especially in the area
of digital lending. However, there have been (2) __________ consequences on account of
greater reliance on third-party lending service providers mis-selling to the unsuspecting
customers, concerns over (3) _________ of data privacy, unethical business conduct and
illegitimate operations. While the current share of digital lending in overall credit pie of the
financial sector is not significant for it to affect financial stability, the growth momentum has (4)
___________ stability implications. The larger issue here is protecting the customers from
widespread unethical practices and (5) ___________ orderly growth.

SubQuestion No : 17

Q.17 Select the most appropriate option to fill in blank number 2.

Ans 1. intentional

2. expected

3. unintended

4. planned

Question ID : 26433058873

Status : Answered

Chosen Option : 3ww
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technological innovations have led to marked improvements in (1) ___________, productivity,
quality, inclusion and competitiveness in extension of financial services, especially in the area
of digital lending. However, there have been (2) __________ consequences on account of
greater reliance on third-party lending service providers mis-selling to the unsuspecting
customers, concerns over (3) _________ of data privacy, unethical business conduct and
illegitimate operations. While the current share of digital lending in overall credit pie of the
financial sector is not significant for it to affect financial stability, the growth momentum has (4)
___________ stability implications. The larger issue here is protecting the customers from
widespread unethical practices and (5) ___________ orderly growth.

SubQuestion No : 18

Q.18 Select the most appropriate option to fill in blank number 3.

Ans 1. agreement

2. closure

3. spread

4. breach 

Question ID : 26433058874

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technological innovations have led to marked improvements in (1) ___________, productivity,
quality, inclusion and competitiveness in extension of financial services, especially in the area
of digital lending. However, there have been (2) __________ consequences on account of
greater reliance on third-party lending service providers mis-selling to the unsuspecting
customers, concerns over (3) _________ of data privacy, unethical business conduct and
illegitimate operations. While the current share of digital lending in overall credit pie of the
financial sector is not significant for it to affect financial stability, the growth momentum has (4)
___________ stability implications. The larger issue here is protecting the customers from
widespread unethical practices and (5) ___________ orderly growth.

SubQuestion No : 19

Q.19 Select the most appropriate option to fill in blank number 4.

Ans 1. optional

2. discretional

3. compelling

4. insignificant

Question ID : 26433058875

Status : Answered

Chosen Option : 2ww
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Technological innovations have led to marked improvements in (1) ___________, productivity,
quality, inclusion and competitiveness in extension of financial services, especially in the area
of digital lending. However, there have been (2) __________ consequences on account of
greater reliance on third-party lending service providers mis-selling to the unsuspecting
customers, concerns over (3) _________ of data privacy, unethical business conduct and
illegitimate operations. While the current share of digital lending in overall credit pie of the
financial sector is not significant for it to affect financial stability, the growth momentum has (4)
___________ stability implications. The larger issue here is protecting the customers from
widespread unethical practices and (5) ___________ orderly growth.

SubQuestion No : 20

Q.20 Select the most appropriate option to fill in blank number 5.

Ans 1. ensuring 

2. invalidating 

3. rejecting

4. repudiating

Question ID : 26433058876

Status : Answered

Chosen Option : 1

Q.1 संŮदान कारक का बŠवचन ŝप िकस िवकʙ मŐ मौजूद है?

Ans 1. हमारे Ȫारा

2. हममŐ

3. हमारे पर

4. हमारे िलए

Question ID : 26433063037

Status : Not Answered

Chosen Option : --

Q.2 िनɻ वाƐांश के िलए साथŊक शɨ/सही िवकʙ चुनŐ।
िजसके şदय मŐ ममता नही ं है

Ans 1. िनमŊम

2. िनरंकुश

3. िनदŊय

4. िनवाŊिचत

Question ID : 26433066924

Status : Not Answered

Chosen Option : --

Q.3 'ऊँची दुकान फीके पकवान’ मुहावरे का सही अथŊ है-

Ans 1. बड़ा मकान होना

2. बड़ी इमारत मŐ दुकान होना

3. खाने मŐ ˢाद न होना

4. नाममाũ का बड़ɔन

Question ID : 26433062604

Status : Not Answered

Chosen Option : --

Section : Part-D-Hindi

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.4 ‘वह जो पढ़ता हो’ वाƐांश के िलए साथŊक शɨ है-

Ans 1. साƗर

2. पढ़ाकू

3. पाठक

4. बुİȠमान

Question ID : 26433062228

Status : Not Answered

Chosen Option : --

Q.5 िनɻिलİखत वाƐ के िकस खंड मे अशुİȠ है?
आकासवानी से समाचार Ůसाįरत हो रहे हœ।

Ans 1. Ůसाįरत

2. समाचार

3. आकासवानी

4. हœ।

Question ID : 26433066751

Status : Not Answered

Chosen Option : --

Q.6 “राŠल ने सभी िमũो ं मŐ कहानी सुनाई।”
उपरोƅ वाƐ मŐ कारक सɾɀी ũुिट पहचानकर िनɻिलİखत मŐ से शुȠतम वाƐ का चयन कीिजए।

Ans 1. राŠल ने सभी िमũों को कहानी सुनाई।

2. राŠल ने सभी िमũों के पास कहानी सुनाई।

3. राŠल ने सभी िमũों से कहानी सुनाई।

4. राŠल ने सभी िमũों के साथ कहानी सुनाई।

Question ID : 26433066965

Status : Not Answered

Chosen Option : --

Q.7 'पगड़ी ओढ़कर आओ।' वाƐ मŐ रेखांिकत शɨ के ̾थान पर उपयुƅ शɨƐा होगा?
Ans 1.   पहनकर

2.   बांधकर

3.   िबछाकर

4.   डालकर

Question ID : 26433062204

Status : Not Answered

Chosen Option : --

Q.8 िनɻिलİखत मुहावरे के उिचत अथŊ का चयन कीिजए-
चाँद पर थूकना

Ans 1. सʃाननीय का अनादर करना

2. िकसी का आदर करना

3. गलत बातŐ कहना

4. ऊपर की ओर थूकना

Question ID : 26433065887

Status : Not Answered

Chosen Option : --
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Q.9 ‘अमृत’ का अथŊ िनɻ मŐ से नही ं है-

Ans 1. पारा

2. ˢणŊ

3. जल

4. मोती

Question ID : 26433074413

Status : Not Answered

Chosen Option : --

Q.10 िनɻिलİखत मŐ से ‘Ůकृित’ का अथŊ इनमŐ से Ɛा नही ं होता है?

Ans 1. पूǛ

2. ˢामी

3. ˢभाव

4. माया

Question ID : 26433080945

Status : Not Answered

Chosen Option : --

Q.11 िनɻिलİखत वाƐांश के िलए उपयुƅ एक शɨƐा होगा?
िकसी को भय से बचाने के िलए वचन देना

Ans 1. सलाह

2. िनभŊय

3. सहयोग

4. अभयदान

Question ID : 26433070066

Status : Not Answered

Chosen Option : --

Q.12 “अɷुदय पाठशाला जा रहा है।"
उपरोƅ वाƐ का सामाɊ भिवˈ काल मŐ ŝपांतरणƐा होगा?

Ans 1. अɷुदय शायद पाठशाला जाए।

2. अɷुदय पाठशाला जाएगा।

3. अɷुदय पाठशाला जा रहा था।

4. अɷुदय पाठशाला चला गया होगा।

Question ID : 26433066978

Status : Not Answered

Chosen Option : --

Q.13 'वतŊमान समय मŐ योग अȑंत आवʴक है।'
उƅ वाƐ मŐ रेखांिकत शɨ के िवलोम शɨ का चयन िवकʙों मŐ से कीिजए।

Ans 1. मनोयोग

2. योगी

3. भोग

4. ʩायाम

Question ID : 26433079739

Status : Not Answered

Chosen Option : --
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Q.14 िवकʙों मŐ से ‘केशरी’ शɨ के पयाŊयवाची से िनɻ वाƐ के įरƅ ̾थान की पूितŊ कीिजए।
जंगल मŐ _________ दहाड़ता है।

Ans 1. अंडज

2. ʩाल

3. गदभŊ

4. शादूŊल

Question ID : 26433079182

Status : Not Answered

Chosen Option : --

Q.15 'केवल माũ आपके दशŊन पयाŊɑ होगें।' इस वाƐ मŐ अनुपयुƅ शɨ है-

Ans 1. केवल

2. दशŊन

3. होगें

4. आपके

Question ID : 26433091307

Status : Not Answered

Chosen Option : --

Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
जीवन 1. ______ से बना है। संघषŊ के समय ही सारी 2. ________ Ůकट हो उठती है। मनुˈ संघषŊ के समय
िजतना Ůखर, 3. _______ और कमŊठ हो उठता है, उतना और िकसी अवसर पर नही ं िदखाई देता। संघषŊ का
अथŊ 4. ________ नही ं है। जब मनुˈ पूरे मन से कमŊ करता है, तो उसे 5. ________ िमलता है।

SubQuestion No : 16

Q.16 įरƅ ̾थान 1 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन करŐ।
Ans 1. मेल

2. संघषŊ

3. बराबरी

4. समानता

Question ID : 264330110873

Status : Not Answered

Chosen Option : --

Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
जीवन 1. ______ से बना है। संघषŊ के समय ही सारी 2. ________ Ůकट हो उठती है। मनुˈ संघषŊ के समय
िजतना Ůखर, 3. _______ और कमŊठ हो उठता है, उतना और िकसी अवसर पर नही ं िदखाई देता। संघषŊ का
अथŊ 4. ________ नही ं है। जब मनुˈ पूरे मन से कमŊ करता है, तो उसे 5. ________ िमलता है।

SubQuestion No : 17

Q.17 įरƅ ̾थान 2 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन करŐ।
Ans 1. Ůचंड शİƅ

2. जीवनी-शİƅ

3. शारीįरक शİƅ

4. वा˨ शİƅ

Question ID : 264330110874

Status : Not Answered

Chosen Option : --
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Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
जीवन 1. ______ से बना है। संघषŊ के समय ही सारी 2. ________ Ůकट हो उठती है। मनुˈ संघषŊ के समय
िजतना Ůखर, 3. _______ और कमŊठ हो उठता है, उतना और िकसी अवसर पर नही ं िदखाई देता। संघषŊ का
अथŊ 4. ________ नही ं है। जब मनुˈ पूरे मन से कमŊ करता है, तो उसे 5. ________ िमलता है।

SubQuestion No : 18

Q.18 įरƅ ̾थान 3 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन करŐ।
Ans 1. कांितहीन

2. िनˑेज

3. कुŝप

4. तेजˢी

Question ID : 264330110875

Status : Not Answered

Chosen Option : --

Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
जीवन 1. ______ से बना है। संघषŊ के समय ही सारी 2. ________ Ůकट हो उठती है। मनुˈ संघषŊ के समय
िजतना Ůखर, 3. _______ और कमŊठ हो उठता है, उतना और िकसी अवसर पर नही ं िदखाई देता। संघषŊ का
अथŊ 4. ________ नही ं है। जब मनुˈ पूरे मन से कमŊ करता है, तो उसे 5. ________ िमलता है।

SubQuestion No : 19

Q.19 įरƅ ̾थान 4 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन करŐ।
Ans 1. लड़ना-िभड़ना

2. हँसना-रोना

3. खेलना-कूदना

4. खाना-पीना

Question ID : 264330110876

Status : Not Answered

Chosen Option : --

Comprehension:

िनɻिलİखत गȨांश मŐ कुछ शɨों को हटा िदया गया है। िदए गए िवकʙों की सहायता से įरƅ ̾थानों की पूितŊ
कीिजए। Ůȑेक संƥा के िलए सबसे उपयुƅ िवकʙ का चयन कीिजए।
जीवन 1. ______ से बना है। संघषŊ के समय ही सारी 2. ________ Ůकट हो उठती है। मनुˈ संघषŊ के समय
िजतना Ůखर, 3. _______ और कमŊठ हो उठता है, उतना और िकसी अवसर पर नही ं िदखाई देता। संघषŊ का
अथŊ 4. ________ नही ं है। जब मनुˈ पूरे मन से कमŊ करता है, तो उसे 5. ________ िमलता है।

SubQuestion No : 20

Q.20 įरƅ ̾थान 5 की पूितŊ के िलए सबसे उपयुƅ िवकʙका चयन करŐ।
Ans 1. वेदना

2. पीड़ा

3. असीम आनंद

4. दुःख

Question ID : 264330110877

Status : Not Answered

Chosen Option : --
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